JPS-240-K
AMUL240000E6218TI27Y

AMUL240000E6218TJ27Y Main pipe & Throttle level ass'y

173

No Part No JEE i A Part Name USAGE Note
1 |TK14-271424R21750 |TK14-2271424R21750 MAIN PIPE C.P. 1.00
2 |BK04-7808 BN (J T ) 7#7T*0.75%808L  |DRIVE SHAFT 1.00
3 |R-S7 18 S7 C-SNAP RING S7 1.00
4 |TK02-2402-C LS E 2AH24 PIPE JOINT ASS'Y 1.00
5 |BK12-2402-C RN E] E HL24NC PIPE JOINT 1.00
6 |BG061-2402W RS E < B (E HOLDING PIN 1.00
7 |BG063-166 [ E R SPING 1.00
8 |R-E4 H1EE E4 C-SNAP RING E4 1.00
9 |[BK16-2602 JiEHH M8*30L KNOB, LOCK 1.00

XWW21102 SEEEE] R AR 8*A8. 3% 1T WASHER 1.00

XAWS512SPWS B UEN 7S A BRAR EESTMS* 1 205 SPW+W [HEXAGON BOLT M5*12 1.00

XAW630SPWS AN 75 IR 45 B8 $TM6* 30T SPWAW |HEXAGON BOLT M6%*30 1.00
10 |TK09-2402 B B 24 HANGER 1.00
11 |AB6-2402-E-TI27-B |Wte FHE ZEBHRATETI2T THROTTLE LEVER ASSY 1.00

173

2018.12.27 Rev.0




AMUL240000E6218TI27Y

BEARBEEAIRAE

EIREEFR

AMUL?240000E6218TJ27Y Clutch case ass'y

________________________ -
o !
// I
|
I
|
|
|
|
I
> |
|
|
I
'i"':ﬂ, P :
) |
% "‘}” ~ |
v’ // |
% :
|
|
|
|
|
|
|
|
|
]
_______________________________________________ 2/3
No Part No i Part Name USAGE Note
12 |TG25-054-TI27 |BE& 24H+ 9 FEAH +flRAE CLUTCH CASE ASS'Y 1.00
13 |TG24-054-TJ27 |Bk&gssH (PS24/26 K &3R8 4H) |CLUTCH CASE ASS'Y 1.00
14 |BG04-054 A 239 M%BG04 - 20NC CLUTCH CASE 1.00
15 |TG12-0633 FmBv4H0633 4R CLUTCH DRUM 1.00
16 12600177 #h 6001ZZ (NACHI) BALL BEARING 1.00
17 |R28 FIER RTW28 C-SNAP PING R28 1.00
18 |R-S12 H1ERS12 C-SNAP RING S12 1.00
19 |TG07-2402 B HRIZEE (PS240) BOSS ASS'Y 1.00
20 |BG05-2402 BleE Ba R JEE2402NC BOSS 1.00
21 [BGO7-2501 B S e RIZEEPS RUBBER DAMPER 1.00
22 |R45 FIEE RTW45 C-SNAP RING R45 1.00
XAW512SPWS FUEN 7S A IELK B M5 * 1 2LFF SPW+W |[HEXAGON BOLT M5*12 1.00
XAW628SPWS FHUEN 7S R4 EE $M6* 28 LT SPW+W |HEXAGON BOLT M6%28 1.00

23

2018.12.27 Rev.0




AMUL240000E6218TI27Y
EIREEFR

BEARBEEAIRAE

AMUL240000E6218TJ27Y Harness & Loop Handle ass'y

3/3
No Part No JBE T Part Name USAGE Note
23 |THO3-2404 PRERHIAE - 3808104 (& 1844/61)|LOOP HANDLE ASS'Y 1.00
24 |RE-220 ST (FTEROHS) DOUBLE HARNESS ASS'Y 1.00

33

2018.12.27 Rev.0






